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Court 1 ~ Court 4
08:30 = 2 ERE ] = 2T ERE 2]
09:15 S BT EEE] SPETEE2 | S EFEE]3
10:00 B 2 ERS 1] B 2T ERS (2]
10:45 B 55 T ERS 1] B 55 T ERS 2]
11:30 = 2T ERE 3] = 2T ERS (4]
12:15 = 5 ERE 4] = 4 5 ERE(5)
13:00 B 2 ERS (3] B8] 2T ERS (4]
13:45 B 55 T ERS (3] B 55 T ERS (4]
14:30 = 2T ERE(5) = 2T ERE 6]
15:15 = 4 5T ERE 6] = 5 ERE T
16:00 B 55 T ERS (5] B 55 T ERS 6]
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Court 1 ~ Court 4
08:30 =P HETFEITI = HETFETR =P A TEITGE] EHHETFETM]
08:50 =PRI =R ZTFEITR] = EITB] SRS ET
09:10 B BB Bl 55 BT [2] B T EET[3] Bl 5B T[4]
09:30 B 5 ET[5] Bl 55 - EEFT[6] B BT Bl 5B T(R]
09:50 B 5 EET[9] B 5 EEHT110] B BT =R A TET
10:10 B2 T B RS T B T EEF T Bl 55T T[2]
10:30 B T EEFT[3] IEP%%‘*EH[ =P TEET mﬂPét?‘ﬁﬂ[
10:50 =T EEITB] TEEEEFT(2] RS EETTE] EEEEIT4]
11:10 =R S EETT5] IEP?C%%H[ B2 B T[2] lEPét?%ﬂ[
11:30 B2 B T[4 Bl h 20 BEFT(5] B2 EET[6] Bl h 2 BT[]
11:50 = A TEITO] = BT HAT[6] =R A TEIT =B HEAT[8]
12:10 =P A TEITO) = A EIT10] SR = A EIT2]
12:30 B 55 EEHT(12] B 5 EEFT[13] Bl 55 7B T[14] B 5T EEFT[15]
12:50 B 55 BT (16] B BT Bl 55 7B T[18] B B9
13:10 =P A TETR = HETEETB =P A TEETT] = A TELTS)
13:30 = A TEETT6] = HETET = A TEETTI8] =R HETET
13:50 B2 BT[] Bl h 20 BEFT9] B 2 F-EEHT110] B2 BT
14:10 B 5] B 55 - T[6] B B EEF T[T Bl 5T T(8]
14:30 B 5 EEFT[9] B 5 EEFT110] B 5 EEF T B T EEFT[12]
14:50 = BT HAT[13] = AT EIT14] = B FEET15] = AT EIT6]
15:10 =T EETT4] =T EEFT5] =T EIT] =TS
15:30 B2 FEEFT2] Bl P20 T3] B2 T 4] Bl h 20 T5]
15:50 B RS EEFT2] B RS T3] B RS T4 B RS EEFT[S]
16:10 Bl 557 BT [20] B BB 21 Bl 557 BT [22] B 5T EEHT[23]
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Court 1 ~ Court 4

09:00 Bl 5T EEFT[13] B 5 T14] Bl 5 FEEFT[15] B 5 FEEFT[16]
09:40 = B TFEEFT10] = A TEEIT = B TEEFT12] = A TEEFT13]
10:20 Bl 55 7B T [24] R 5T EEFT[25] =S TFEITNT = A TEIT18]
11:00 = RS EETT 6] RS B BT [12) P2 EET(13]
11:40 Bl 55 EEFT 7] B 55 T18] = TEET14] = A TEEFT15]
12:20 P2 T (6] Bl h 20 T[] B RS EEFT[6] B RS
13:00 =T EETT6] SR TEET =T EIT6] R Z TR
13:40 Bl 557 BT [26] B BT 27 = S FEFT9] = A TEIT20]
14:20 =R S EETT(8] EHURESEET9] B 2B T[14] P2 EET(15]
15:00 Bl 55 EEFT19] R 5 EEFT120] = B TEEFT(16] =R A TEETT
15:40 P2 EET(S] Bl h 20 T[9] B RST8] B RS EEFT9]




